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R3.11.25 10:05 N 14.9 13. 4 Fii35) e >100 1.47 0. 23 ik 8.1 8.2 0.8 0.2 2.8 0.6 <1 8.4 0.13 574
12:05 SiE 16. 6 13.6 P E) R >100 .18 0. 06 W 8.0 8.7 0.6 0.0 2.5 0.2 <1 7.3 0.14 514
14:05 S 16.9 14.0 A R >100 12 0. 00 AT 8.0 8.8 0.6 0.0 2.4 0.0 <1 7.9 0.14 602
16:05 VSiE 16. 3 14.1 HE HE >100 .25 0.13 W 8.1 9.2 0.6 0.1 2.4 0.3 <1 7 0.13 571
18:05 VSiE 14.3 14.2 A, HE >100 .49 0. 00 WL 8.1 9.8 0.6 0.0 2.1 0.0 <1 7.9 0.12 428
20:05 PR 12.8 14.3 piLE) HER >100 .50 0. 28 W 8.1 9.1 1.1 0.3 2.5 0.7 <1 7.1 0.12 371
22:05 DN 11.9 14.2 fiiEs) f 5L >100 .09 0.01 HE 8.0 7.7 1.0 0.0 2.7 0.0 <1 6.3 0.14 359
R3.11.26 0:05 s 10. 2 14. 4 FiLRE) f 51 >100 .70 0. 09 HHE 7.9 7.4 0.6 0.1 2.8 0.3 <1 7.4 0. 14 959
2:05 SiE 8.7 14.0 pige) Fili 8 >100 .32 0.02 W 8.0 7.7 0.7 0.0 2.5 0.1 <1 8.5 0.13 1, 820
4:05 S 8.2 13.7 A R >100 .44 0. 00 R 8.1 8.0 1.0 0.0 2.9 0.0 1 8.3 0.13 576
6:05 S 9.1 13.6 A R >100 .83 0. 00 LRI 8.0 7.9 0.9 0.0 2.7 0.0 3 7.6 0.14 1, 590
8:05 PR 12.1 13.3 A HE >100 .32 0.15 W 8.1 8.2 0.7 0.1 2.8 0.4 2 8.3 0.13 514
10:05 PR 14. 4 13.9 piLEE) MR >100 .42 0. 00 UL 8.1 8.3 0.8 0.0 2.6 0.0 1 8. 4 0.13 414
R AE — 16.9 14. 4 — — >100 — 0.28 8.1 9.8 1.1 0.3 2.9 0.7 3 8.5 0.14 1, 820
e/ IME — 8.2 13.3 — — >100 — 0. 00 — 7.9 7.4 0.6 0.0 2.1 0.0 <1 6.3 0.12 359
A — 12. 8 13.9 — — >100 — 0.07 — 8.0 8.4 0.8 0.1 2.6 0.2 1 7.8 0.13 715
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